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program rigidity (input, output);
{program for 1000 or less trace numbers}

type dataset = array [1..30000] of integer;

const pi = 3.14159265359;
d = 50; {computing for d characters}

var 1i,j,e,n,max,p,q,rl,r2,s,t,u: integer; {matrix: mx = (a b, c d4)}
e2,a2,b2,c2,a3,b3,s1,ul,vl,wl,xl: real;
a,b,c,f,al,bl,c1,o0l: dataset; {mx[i] obtained by ol[i] conjugacy}
m: array [0..1000) of integer; {m counts matrices in list}
X,Y,2: array [0..1000,1..d] of real; {z counts conj. classes in n-chain}
k,1,r: array [1..d] of integer; {original character parameters}
g,h: array [1..d]) of real; {modified character parameters}

{definition: scod (sign change in off diagonal) of mx is (a -b, -c d)}

procedure info;
var i: integer;
begin
writeln(’give the maximum trace number’);
readln(max) ;
for i:= 1 to d do
begin
writeln(’for i = /, i:1,’ give character parameters: k, 1, r’);
readln(k({i],1l(i],r(i]);
end;
for i:= 0 to 1000 do
for j:= 1 to 4 do

begin
x[]:-lJ:]:= 0;
y[i,3):= 0;
z2[(i,3):= 0;
end;
for i:= 0 to 1000 do
m{i):= 0;
for i:= 1 to d do
begin
g(i]:= 0; h{i]:= 0;
end;

end;

procedure list(n: integer); {computes all matrices with 0 < a < tr}
var e,i,j,x,y,tr,r: integer; {having positive elements 0 < b <= c}
begin
r:= 0; tr:= 4*n + 2;
for j:= 0 to n do
begin
X:= 2*%j + 1; {possible value for a, 0 < a <= 2n+1}
e:= (x*(tr - x) - 1) div 4;
for i:= 1 to round(sqgrt(e)) do

begin
y:= e mod 1i;
if (y = 0) then ({if i divides e then compute matrix elements}
begin
r:=r + 1;
afr):= x;
bl(r):= 2*i;

c(r]:= 2*e div i;
if (x <> tr - x) then
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